
SAP ABAP table V_GARTB5 {Generated Table for View}

V_GARTB5

MANDT [CLNT (3)]

SGSART [CHAR (3)]

SFHAART [CHAR (3)]

SFGTYP [NUMC (3)]

SREALGE [CHAR (4)]

SREALVE [CHAR (4)]

SRUEBIL [CHAR (4)]

SRUEAUF [CHAR (4)]

SGEWBIL [CHAR (4)]

SGEWAUF [CHAR (4)]

SSWAPERT [CHAR (4)]

SSWAPAUF [CHAR (4)]

SRUESWP [CHAR (4)]

SRUEAUFSWP [CHAR (4)]

SGEWSWP [CHAR (4)]

SGEWAUFSWP [CHAR (4)]

SSWPUMBAUF [CHAR (4)]

SSWPUMBERT [CHAR (4)]

SLPG [CHAR (3)]

SSWAPERAUF [CHAR (4)]

SSWAPAUAUF [CHAR (4)]

SBESTABT [CHAR (4)]

SBESTZUT [CHAR (4)]

SBESTAB [CHAR (4)]

SBESTZU [CHAR (4)]

SREALGET [CHAR (4)]

SREALVET [CHAR (4)]

AT01

SANLFOR [NUMC (3)]

SFGTYP [NUMC (3)]

 V_GARTB5-SFGTYP = AT01-SFGTYP 

0..N

1

ATLPG

MANDT [CLNT (3)]

SLPG [CHAR (3)]

 V_GARTB5-SLPG = ATLPG-SLPG 

0..N

0..N

T000

MANDT [CLNT (3)]

 V_GARTB5-MANDT = T000-MANDT 

0..N

1

TZB0A

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SBEWART [CHAR (4)]

 V_GARTB5-SBESTAB = TZB0A-SBEWART 

0..N

{0,1}

 V_GARTB5-SBESTABT = TZB0A-SBEWART 

0..N

{0,1}

 V_GARTB5-SBESTZU = TZB0A-SBEWART 

0..N

{0,1}
 V_GARTB5-SBESTZUT = TZB0A-SBEWART 

0..N

{0,1}
 V_GARTB5-SGEWAUF = TZB0A-SBEWART 

0..N

{0,1}
 V_GARTB5-SGEWAUFSWP = TZB0A-SBEWART 

0..N

{0,1}  V_GARTB5-SGEWBIL = TZB0A-SBEWART 

0..N

{0,1}  V_GARTB5-SGEWSWP = TZB0A-SBEWART 

0..N

{0,1}  V_GARTB5-SREALGE = TZB0A-SBEWART 

0..N
{0,1}

 V_GARTB5-SREALGET = TZB0A-SBEWART 

0..N

{0,1}
 V_GARTB5-SREALVE = TZB0A-SBEWART 

0..N

{0,1}

 V_GARTB5-SREALVET = TZB0A-SBEWART 
0..N

{0,1}

 V_GARTB5-SRUEAUF = TZB0A-SBEWART 0..N{0,1}

 V_GARTB5-SRUEAUFSWP = TZB0A-SBEWART 

0..N
{0,1}

 V_GARTB5-SRUEBIL = TZB0A-SBEWART 

0..N

{0,1}

 V_GARTB5-SRUESWP = TZB0A-SBEWART 

0..N

{0,1}

 V_GARTB5-SSWAPAUAUF = TZB0A-SBEWART 

0..N

0..N

 V_GARTB5-SSWAPAUF = TZB0A-SBEWART 

0..N

{0,1}

 V_GARTB5-SSWAPERAUF = TZB0A-SBEWART 

0..N

0..N

 V_GARTB5-SSWAPERT = TZB0A-SBEWART 

0..N

{0,1}

 V_GARTB5-SSWPUMBAUF = TZB0A-SBEWART 

0..N

{0,1}

 V_GARTB5-SSWPUMBERT = TZB0A-SBEWART 

0..N

{0,1}

TZPA

MANDT [CLNT (3)]

GSART [CHAR (3)]

 V_GARTB5-SGSART = TZPA-GSART 

0..N

1


